
Corn AgBite 
Complete the crossword puzzle below 
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Down 
1. A _____________of corn is 56 pounds, about the 
weight of a large bag of dog food. (bushel) 
2. Corn is grown in every continent except 
______________ (antarctica) 
5. Just over a third of the corn crop is used to make 
____________ (ethanol) 
6. There are ______ grams of total fat in 1 cup of corn   
(two) 
10. There are _______ grams of sugar in a cup of 
corn (nine) 

Across 
3. A typical ear of corn would have 800 kernels in 
______________ rows. (sixteen) 
4. Corn is a part of the ________________ Kingdom 
(plantae) 
7. About a ____________ of America’s corn crop is 
used for feeding cattle, hogs, and poultry in the U.S. 
(third) 
8. There is 392 mg of _____________________ in 
one cup of corn (potassium) 
9. There is one silk for every __________ that grows 
in an ear of corn. (kernal) 
11. Only ________________ percent of corn planted 
in the United States is sweet corn (one) 

Created using the Crossword Maker on TheTeachersCorner.net 

https://TheTeachersCorner.net

